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CLEFT SENTENCES :
Choose the underlined part that is incorrect in the following sentences and write the correct
word in the box on the right.
1. That was Jim who went to hospital last month. ;
2.1t was in Paris that I first meet my wife.
3.It is in 2010 that my life turned over a new leaf.
4. It was on New Year's Eve who Mary broke up with her boyfriend.
5.It was her brother who dropped out of his university and setted up his business.
Choose the correct sentence that is written using the underlined part and cleft sentence
with "It".
1.He spent his summer vacation in Da Lat.
A. It is in Da Lat that he spent his summer vacation.
B. It was ih Da Lat that he spent his summer vacation.
C. It is in Da Lat that he spends his summer vacation.
D. It was in Da Lat where he spends his summer vacation.
2.Candidates all over the world took part in the competition with great enthusiasm.
A. It is great enthusiasm that candidates all over the world took part in the competition.
B. I't was great enthusiasm that candidates all over the world took part in the competition.
C. It was with great enthusiasm that candidates all over the world took part in the competition. =
D. It is with great enthusiasm which candidates all over the world take part the competition. ,
3.He gains impressive achievements at the age of 20. g
A. It is at the age of 20 that he gains impressive achievements.
B. It was at the age of 20 that he gains impressive achievements.
C. It is at the age of 20 that he gained impressive achievements.
D. It was at the age of 20 that he gained impressive achievements.
4_Mary made a great contribution to her husband's success.
A. It is Mary who made a great contribution to her husband's success.
B. It was Mary who makes a great contribution to her husband's success.
C. It was Mary who made a great contribution for her husband's success.
D. It was Mary who made a great contribution to her husband's success.
5.Most parents are willing to lend their ear to their children.
A. They are their children that most parents are willing to lend their ear to.
B. It is their children that most parents are willing to lend their ear to.
C. They are their children that most parents are willing to lend their ear. %
D. It is their children that most parents are willing to lend their ear.
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